B JEM E SOIME AT 2I[E2] A31=MA] <71 2020. 3. 18>
cC e |
20|H'|O| JHM-HE _OI _|_AI 7|-]]}|A-IA|

x FlZo| 2HduH S 91 2bgel FA|7] B
M1z
x [10fl= sl gsl= 2o S BE FUCH CHin=)
1. 7| 2Ake
Attt = (2HMZ1Zh): 2021H01E01 ~ 20211231 W] "HIIBAl [ ] sl 2rE2A
; HZIE2HE
DRUHUS & | Aletgel FLielx x| ®”&Z$t%ﬂ§)hg R TT T
@UEZ} O xx @HTHAY 2020104827
GLAA| MEEYAl ZMT OIFEYR 171 7075 |(@ASHHS /THA 02-547-6999 /
@EI|0|R| &4 ®XARm A u9dc@u9change.org
F 22 U (MESEEAI) 07|22 89 [ JoNI©T[ 17I&t
MHAEYZAY olyl & 32%
OEERY [ et el [VIAtehdel [ Jyele= B oAl [ 133712 [ 171Et
@IYARIRE  [I=
@2 IZHe! [ 17194 [ 170el-714 [ 1R7F [ X @Rpx| ekl [ 7]
®O| Ak 5 9 [t 2A SARR} 201 4 13 &
DR 2
2. AL BAfis g (hei: 3)
e B =A O 3
BE| wag | G332 |easun | e | T
@ 24 (@=0+0)
® BASHAY
© 7|EtATY
3. F3E (chel: &)
of A0l
_ DA Y e
28 BEA oo 2 | e o TAgEsE
QLA | @7|1RF | OEZRFg | O3H=Y | @7|E} = 5ol ol
@ 24 (&=0+0©) 106,480,902 | 70,260,384 49,112,196 0 21,120,000 28,188 8,298,000 27,922,518
OEUZHAY 106,480,902 [ 70,260,384 49,112,196 0 21,120,000 28,188 8,298,000 27,922,518
©7|EHAIY 0 0 0 0 0
4. H| 23 E (Shel: )
BAIABIE @AIL| |@1R=3
TE GEA N GIALY G@YULt H2Z2 HE 5 AMYSHIZ
= — 7|E
BEA | aauig | mefuig | mg | F | TR | doo
= =)+ 106,480,902 | 84,829,994 24,611,164 57,167,968 3,050,862 0 0 21,650,908
® A (@=0+0©)
OEUZ2HAY 106,480,902 | 84,829,994 24,611,164 57,167,968 3,050,862 of 21650908
© 7|EMAF 0 0 0 0 0
5. gelgt
=02 2 ZiMet 2U4M0l| JEE BM 2 BEIMSS dESIACH, SiYYEE L5 g4 5 2d5tiEs &
QIBHL|C
CHEX}: o|™ st ol AR} : 2022H05€ 02

FAF Al % S0{Mw) RI502I3RI 18t - Ml4gt W 22 B Al X437x2|30] 2t ZolwelSe
o
=

20224 05 & 02 &

210mmXx297mm [ AHX] 80g/m* EE= S X| 809/ m ]



(M5%)

ZOISHAR AR S
ol 7| e SASHAY g
. OfAlot, &F, Eol, obZ2|Ft HITIX| 71 L AL
W= X2 o{2I0] S0/8f A|dMX] ALY
CHES R ol B AME[A I XA H TS AR
HES Ao IS EE XA

so| glolo] STl T Al

AU E(EFH 2 7Hs)

|=(ZE=1100) [ ]AZX(ZE1200) [ ]7[Ef 2l 32[ojo] ™ ! SAL 28 (ZE=1300)

2 S WFK(ZE2100) [ ]2 SWF(2E=2200) [V]7|EFRF(2 E2300) [ Jeh=H (2 E=2400)

(E2500) [ 19 S0tE (7 =2600)

2 A EAME(ZE3100) [ |22 (Z=3200) [ J-A A2 2 27170 (2 =3300) [V] 7IEF EAME[A(ZE

oin

+u

tol
—
2

8

OB 0 b iFO
o Jgkioln

o
0

=
Toi

f
E
In
i
o
S
=
N

| 2 Z=(FE=4300)

SAE A 15 (FE=4200) [ |5 X
=

ETihs

280N
R
win
9
o
=)
o
L I
Ui

=

[ 17H(=2=6200) [ |28 % =3 (Z=6300)
§F_ [(Z=7100) [ |HE & HEMHE|A(ZE=7200) [ AR (2 =7300)
X Z(Z=8200) [V]22&=(Z=8300)

wo

Li >N

i HL T

3

I-JJ
:O 1
HJ
n
@
(@]
IS
Z
ot
>
o|>+

1
tdeh(m=11200) [ |==x=8HZEE=11300)

171EH(=ZE=12100)

EREERS

NI2% ol [ Jobs [ 1w [ el [ J=ohel [ ]elZel(chesh [ 17} of o
[k [ 17]et

@R F2 AR

NIE= [IMS [ [ o8 [0l [ 125 [ o7 [ 2 [ 124 [ 127
[12e (135 (18" 185 18 7
CETIESRNCEE

[1%M7 [ 158 [VIotAlol [ IS0t 27} [V]otZalz} [ ]2 Mloltof [V]ktoln2|7t

- - = H=2 =2 71
1 e 3400 At |9|§z|%xrg AP 4SHH| 2 14,506,410
1) I-Care (OIO]A[0f)_&Y Ots F=xla AJ¥
2) 2otE L FUA A AU 2 = (R, AL,
AU E A2
3) 2ot 2= 2|H e et 2 <)
4) 22101 |2 DAY I OJobE HijF ZISH
2 A= 2300 AP DS 5E 2|2 ALY Al 48|12 7,494,385
TYMAKSI S "=y Z S Of =3} IA[OFsE o W are " A& 7% =U 2 =el(ss, e,
ArGLE AR
6_17\| |:||.2 S{ALEHH} Z|GH B2 A EL% ?\JEOH ;1||_'; 9_|)
3 1= 4300 AF & 8101 2| & 2| AT ARl 4~3HH| & 2,610,369
YU EE X AR E71E A
ArGUE AtE R AU 2 =2 (R
) U HAS 71 A=A




ofl | of
o | o
© |~
©| o
O |y
S8
™| N

~

T

oD
oo | oo
o |T
160 | i
<F | <F
oD | &1
<1<
= |~
SV Te

ol

<

K
8 | o
< |ar
ol | MO
M| %o

=
< | oI

FD
10
X0
I

FALE %]

=

Ehxfof BY

CF

P
(=]

ur

L "@ARRL

1) MEHZ=8100)"ofl VEE 5t12, =2

=3
F

&2 537t 7t

Ct. @FE G7HX| [ o

"e = (K|
=

L kol

Sh
E

[
S

E]
31

ol
Ty

a4

@At "ol 5i
130, LHHX[E ‘2 2| Atgdoll

o
AEE

AtER| ) g 2 &t

=2
S,

ALY

satof

b

s
=

“3b| 20| B2 37) AFZel A

o1
=

< A

HelSo| =& st= Atdol 37 o]

ol
2

Ho

=

Fa
=

| B et L x|Hof g cf

o4
=

x| 80g/m’]

= ==X
- o=

C

210mm X 297mm[ 24 AFX| 80g/m H



